Math 220
1.1: Systems of Linear Equations
Questions for flipped class
(1.1.1)
Consider the accompanying matrix as the augmented matrix of a linear system. State in words the next two elementary row operations that should be performed in the process of solving the system.
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(1.1.2)
The augmented matrix of a linear system has been reduced by row operations to the form shown. Continue the appropriate row operations and describe the solution set of the original system.
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(1.1.3)
The augmented matrix of a linear system has been reduced by row operations to the form shown. Continue the appropriate row operations and describe the solution set of the original system.
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(1.1.4)
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(1.1.5)

Determine the​ value(s) of h such that the matrix is the augmented matrix of a consistent linear system.
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(1.1.1 solution)
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(1.1.2 solution)
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(1.1.3 solution)
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(1.1.4 solution)
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(1.1.5 solution)
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Replace row 4 by its sum with =3 times row 3
(Type an integer o a simplified fraction )
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Scale row 4by ~3-
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H 2. The salution set ontains one soluton, (0.0.0)

(Type integers or simplified fractions )
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K4 The soluton set contains one soluton (19.24,10.3)

(Type integers or simplified fractions )
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KA. The unique solution of the system s (5,5, ~2)

(Type integers or simplified fractions )
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K1\ The matix s the augmented matrx of a consistent inear system ifh % 4

(Use a comma to separate answers as needed. Type an integer or a simplified fraction )
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Solve the system.
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